Y I7

EEmanhA :
EKS BRFRTEEE/NERHINE R 5UE AR BEIR TR -
HAKESEEAIEIRIEE - £EKER - 51k - ZE2RIREREVRA £O]
KIEIEMBLERA -
o{ERBENEnAI N TEALK -

/NBEAINE O] —XE 12 KR BE (K1 BE &1 % h A I 5 4R AR R DA R S IR E RV RS RS -
Bt AZEERNMEEENEANMRERS  FERERBFEMNARARIBVERR
RAHARES IR -

HIE#ME : Pili#R+ - C1008/C1010 Kkt E
TKERE : =ERH - F5EH RoHS
2RI BXEE - HRBRGEREREEEN



EKS BRIRTCE/\FRHINE 2 5IR B R TR (mm)

EmiR(xME) BFRE RESEE MARAE WPHE BHEE AR

EKS2-M3-2.0 | M3X0.51SO |[0.5~20 5~5.1 6.0 0.5 10.3 4.9
EKS2-M4-2.5 | M4X0.71SO [0.5~25| 6~6.1 6.8 0.5 10.0 i)
EKS2-M5-3.0 | M5X0.81SO |[0.5~3.0, 7~71 8.0 0.6 120 6.9

EKS2-M6-3.5 | M6X1.01SO [0.7~35 9~9.1 10.0 0.6 15.0 8.9
EKS2-M8-3.5 | M8X1.251SO |1.0~3.5| 11~111 12.0 0.6 16.0 10.9
EKS2-M10-3.5 | M10X1.51SO [1.0~3.5| 13~13.1 14.0 0.6 19:5 129

. LT .
|, GEHEpE
=== |
= £
o il
= g
m i)
1 1B= ’
i TF A
T =
£ el
| | —
| |
l [€ )
\

ARNMEEFSE EKL 25 - BEXRERAK



